#o% ¥®R4
— B9 =R
—. WA
(—) ZE
1. X \
[| rx o =1imY £(&,m)A0,
2. U B TSURE P i

3. R

y:lfﬁil

RarIgie. R

[

<2 NJUPT




(2 ZERGTHIHE
1. BEAMLRRF

(1) R XD E .
X—RXH, v— K, —BKEA.
Ey=¢2(x) yt x=v,(»)
y 1 | dlr = —&E\

D y=¢1(-"7)____i_;é;__>

| Il| IR v———d

|
: I ! > C .

o a | b x 0 X

£ NJUPT




Ao XA %:‘&i%j‘mxe:faﬂéﬂk.%:

R 1 e AR SR I KA
(2) BRI I 2

SRy R, BEEEHBREREY (xp) KA

g XS A~ THT B RF SO0 A5 S

B ‘getRl” , HkE ‘Rl .
IR X 4F RE, DRX —R X 55

Fy; DRY —FIX IS,
DE%?ZEX—ﬂ:' XﬁXXEY—ﬂ:'

X I, 38 % 7 R

Fif AS e 23 BR B 73 B D HIRR 437 DR

¥ o

<2 NJUPT




TN H(DI(X)S_VS{DZ()C),)I_\"J A

a<x<b

_[)I f(x,y)do = Lb dszz((:)) f(x,y)dy

V(1)< X<y, (p) y

= D ] d__}%\‘

c<y<d

- ] o = ‘ >

vi1(»)

_[)I f(x,y)do = _Ld dyIWZ(y)f(x, y)dx

<2 NJUPT




(3) R Fr

prés B — IR KR RAR 7[R, H e #R
X D (EHER) , BERFHRDS TR
DHFTHIAEFAR, BIE HFHIRD R

2. R THHE _ER5
(D) BRI EE ~A%L 50

(2) DHITRALTRRAS

L2 NJUPT




1) t% RFEDST
D:p(0)<r<e,0),a<0<p

2) R RFEDIKIIA T L}
D:0r<p@)asf<p

(3) R’ F7EDHKI N ERIF
D:05r<Lp0),050<2x

D ) 34 5 &

Py =f (x) &1, BEBMNJLMA ™

BRXEHEDHIRAIRR SR (&

o RER

11) B FHx=rcos8,

TR B

y=rsin@ i

5 f A ARy O

‘ﬂ“‘m

<2 NJUPT




(3)2E 1R R HIIE X
= D RIS R R A R R B D

P2l :ﬁ\ P2 m—‘%ZQH‘T,

SRR BIAS (" + y* ) f (i) f [%)ﬁ
H] 25 8 3% R AR A8 A 2%

<2 NJUPT




(=) AR_E

LRI BRI FR A

1. HFEDRTyRixtFR

2+ DR TXBIXTFR

3. BHDHRTIRE RXTHR

4. HDFRTHZ y =xWFR

i)

() HRZERDH— LR &
HEEHE. & ERRD. #ouE

<2 NJUPT




it 18] £x, o AABER T i =B,

HAD: x*<y<1,-1<x<L

fiE DRI T KD Rk
=4 X .

D:0<r< M g<p<”,
cos’ @’ 4

D,:0<r< 1 ”<93§Z;
sin@’ 4 4

D,:0<r< M0 37 5 sy
cos' @ 4

37

<2 NJUPT



c_,

If(x,y)da

Il
LM»» S

If(X,y)da

D;

sin@

QICOS o f(rcos@,rsin@)rdr

A|a

I

3z 1
+ I”4 dé I;in@ f(rcos@,rsin@)rdr
4

sin @

+I 3”_,, dd Iﬂcosz 9 f(rcos@,rsin@)rdr

10

<2 NJUPT




I3 5T = [[ ydxdy, b DR B AIFELR

(x =a(t—sin?)
L:- 0<t<27)
 y=a(l—cost)

i —HE BT BB R ER X35 e y=yE)
% I IZﬂade' y(x) Zdy i

s Jﬁ

=Y sgommens
= 1.“2”513(1 —cos?)’ - a(1—cost)dt

2754
—I 2s1n—

11

L2 NJUPT




I = IZM dx_[ o yidy = —jzn 2*sin Edt

32 t
3ajsmudu é\u—

o 2
64 z 64
aj sin® udu =—a* YA

3 0 3
64,7531z

3 86 4

=—7a
12

12

<2 NJUPT




HIR_E

3 TR0 I R4

# ] (xl+]yhao

—H(\x\ \y\)da+”‘(\x\ Yo =2x-

XA
175 F - 5 j [ (x|+|ypdo,

HHD: ‘x‘ ‘y‘ <1(x>0)

Wi 4 j j £ (e, y)or = j j f(x,p)do?
f(x, y)=f(x,y)

DRTF

xﬁ?ﬂm‘ PR

KT

~ YR

BRI 2

1

13

<2 NJUPT




4 L (x,—y) = — f(x, ):

| %F pREGEH
mxb-x )E"JH S(x, J’)do'““” f(x,y)do= ()

f(x,—y)= f(x,y): KT y~_IBEE

S
“‘“— : Y,

D f(x9 y) I f(x,y)do

D

KT yRaT R 0

KT A e ommms] 2] 7o

14

<2 NJUPT




1. ZEDRTFxBHR A E M
014 (xy) EDBY, AH(x—y) ED, M
[| f(x,p)do = j j (/e )4 (x,-p))do

0, Ef (x,—y) =~ f(x, )
=<2H f(,p)o, FEf(x,-y)= f(x,)
DIIEDH,J_E—A&&B%‘X:[:&

J(x,—y)=—f(x,p): ;’%:*:y%ﬁ&ﬁ
f(x,—=y)= f(x,y): KT yRBRE

<2 NJUPT




D f(xa y) _”f(x,y)da

RKTy_AERE 0

9%‘:;‘ xﬁhﬁﬁ\' 9%:* El,f gEEI%fC ZH f(x,y)do

Tyrelr

KTx2wRE 0

oS T y RN AR

*Fommyy | A reondo

f(_xay)=_f(x9y)3 9%;::36'7%%:&&
J(=x,y)= f(x,p): %T;x%'ﬁ%&ﬁ

<2 NJUPT




2. HEDRTyHIxHR
Bl #4(x,p) EDI}, WA (—xy) €D, N
H f(x,p)do = jj [ (x, p)Hf (=x, ) do

\

::|:

0,
=12 j j f(x, p)do,

A

3DIIEDEI'J7E =

TEFHEE

Af (=x,y)=—f(x, )i}
—Qf(_xay)= f(xay)HT

X3,

f(=x,9)=—f(x,p): KT x 2T
f=x,0)= f(x,p): KT xRBRE

<2 NJUPT




3. HDRT R EXTHR,
Bl 24 (xy)eDB}, WE(-x,—y)eD, N

[[ f(x,p)do

=[[(f(x,p)4f (-x,-y))do

r

0

Il
A

\

2([ £(x, p)do,

HD RDH k>

AR (B

FER)

%f(_x,_y)=_f(x9Y)
%f(_xa_y)=f(x9y)

X 35,

18

<2 NJUPT




%‘D?%:,:‘x, yﬁﬂzﬁ FXTHR :
[[ oo = [[(rxsrr it o) do

KA D D) E( 7(5 ) X IR[ SR 5 — SR A X ]
4. HDRTHE y=xX#K,

Bl 24 (x,y) EDBY, WH @y, x)ED, N

j [ f(x,p)do = | j (f e, (p,3))do

= [[ rrxno = j [Lr(x,0)+ £(rs0)ldo
B FUFIRREL R LR R KR

19

L2 NJUPT




Bls HE I _ERD
(1) ”(x+y)2d0' D: apy<x’+y’<2ay (a>0)
H(x+y) do = H(x +y )d0'+Hnyd0'

AT ERREDRT i,
AL ) 20T AFEY

”(x+y)2da=jj(x2 + y)do

20

=2 NJUPT




D: ay<x*+y*<2ay (a>0)

NREAx" + y' kT x NIREE,

2D D x > O ER 2, ]
[[(x+yydo=[[(x*+y)do

= 2”(x2 +y*)do = zjo;zda My
D,

asin@

= E“‘2(l6a4 sin® @ — a*sin” 8)d O

_154* 15¢* 3 1 x _457d’

sin’ d0 =
2-[ 2 422 32

21

=2 NJUPT




795?':\'53’ X3 D KTy = xXFK,
Fr A

2 2 2 2
...1=j1!(z2 + ZZ Vo =g(%+%)d0'

=%[g(zj + 'Zzz)do-+g(f; + zj)do-]

=(%+;—2)%J;)j(x2+y2)d0'

22

<2 NJUPT




D:x’+y’ <R’

[+ 2o
D

=(alz +b12);jbj(x2+y2)da

11 1 _R*
=(2+b2)4.

1 1 zR*
— -|- o
(a2 bz) 4

<2 NJUPT




= lasay
D y ., P=X
D:0<x<2,y<1. 1‘

\lll
\
A

DT, BE 5
R Ty NIRRE . y 2 x
I = ”\/‘x — ‘dexdy —1|
=2 ” Jx = y|dxdy .
DE% 4 2Ry =K DIExH 5
B4 43 RIS K3

=2 ” Jx— yldxdy
0D,

=2 NJUPT




.V‘ Lo y=x

I = ”\/‘x — ‘dexdy / Wﬂ
D /0 >
— ZDLID Jx— yldxdy ’ »
= 2”1/ y — xdxdy + 2”1/ ydxdy
= ZIO dew/)’ — xdy + Zj‘odyj‘yq/x — ydx
L2 D AXE X5,
— = o mDZ y‘jyﬂ‘l y‘-zﬁ

=2 NJUPT




Bl6 T = [ x(1+sin pf (x> + y*)dxdy, FHF D

Hy=x,y=1,x=—1F1 Xﬁﬁ,fﬂ}?}ﬁ?@@@ﬁo
i R FHXTFRME |‘
fEMISRy =—x%, HXED | D
5> P ER 5D, FID, - A
D KTy HRTHR -1}/ o 1 x
D, R T xR R
R LR Bxsingf (1) R TRBEx y7H#H

AR, xRXTZExRTERE, FLLF

26

=0

NJUPT




”xsin yf(x*+ y*)dxdy =0 | |

D, \\ D1
”xsin yf(x* + y*)dxdy =0 D\z\\_ '
D

—1 ] 1.;

fj xdxdy = ()
Iii I = ”x[l +sin pf (x* + y»)ldxdy

= ” xdxdy + ”xsm yf(x* + y»)ldxdy

—”xdxdy = ”xdxdy —”xdx

D,UD,

of [ xay = 2" xtax =2

27

<2 NJUPT




BT Bef (x, y)&EsE, DRy =0,y = x7,
X = lﬁ? 3 ﬁfém X ﬁ,ﬂﬁ

fey)=xy+[[ £ pdxdy (1)
Rf(xy)
iR R4 XIBDUWE AN

R N DR —% 57 X3,
f(x, p)&ESE, BT

[[ £ e, yyaxdyy—s2ttir

28

<2 NJUPT




Wl = H f(x, y)dxdy,
J(x,y)=xy+ I I J (x, y)dxdy
= xy+ I WA, B:

s = H(xy + Idxdy = I I xydxdy + 1 I I dxdy
D D D

J;!dxdy = _"01 dxj-ox2 dy = I: xidx = 1

3
1 x? 1 1
‘[)_“xydxdy—J‘de“‘0 xydy—ﬁ ..I=§,
1
NIIKS f(x,y)=xy+§o

<2 NJUPT




Bis B&[ fodx= A, fH%

pdh.

1= dx[ f(x)f )y = /; =2 J, feodx- [ fQy
i =2 J, dx, 1) £y
1= ax[ £ f Gy = [[ 10 f (rydedy

S XxX=u, y=v

I=( au[ f(u)fay

U=y, v=x

I=[ dy[ f()f (x)ix

y

<2 NJUPT




1= dx[ fQo)f )y

= [[ £ GO £ (pyaxay
I=[,dy[ F()f () x
= ([ £(x) £ (y)dxdy
I=0] [[eoso + [[ 6o f (o
=] FCOfWsdy =[] [ 707 )y fis
= %Llf(x)[ﬂ f(y)dy}dx = %Ll f(JC)dx-IO1 J(y)dy =31A?2

<2 NJUPT




A5

A

] IR kﬂémwa BFX)ES )R —E

RREL W 4= j f(x)dx = F(1)— F(0)
1=[ax[ £ £y = [, fCodx[ £y
= [ fF).dx = [ fOIF1)~ F(x)ldx
= FO)f, f(x)dx = [ F(x) f (x)d
= FO)|, f(ode— [ F(x)dF(x)

1

= FI)[F (1)~ F(O)] - F*(x)

1

1

= F*()- FO)F )+ F*(0) = %{F(l) _FO) =

<2 NJUPT




	幻灯片编号 1
	幻灯片编号 2
	幻灯片编号 3
	幻灯片编号 4
	幻灯片编号 5
	幻灯片编号 6
	幻灯片编号 7
	幻灯片编号 8
	幻灯片编号 9
	幻灯片编号 10
	幻灯片编号 11
	幻灯片编号 12
	幻灯片编号 13
	幻灯片编号 14
	幻灯片编号 15
	幻灯片编号 16
	幻灯片编号 17
	幻灯片编号 18
	幻灯片编号 19
	幻灯片编号 20
	幻灯片编号 21
	幻灯片编号 22
	幻灯片编号 23
	幻灯片编号 24
	幻灯片编号 25
	幻灯片编号 26
	幻灯片编号 27
	幻灯片编号 28
	幻灯片编号 29
	幻灯片编号 30
	幻灯片编号 31
	幻灯片编号 32

